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QUESTION 1

You execute the following code. 

How many times will the word Hello be printed? 

A. 49 

B. 50 

C. 51 

D. 100 

Correct Answer: B 

The mod operator computes the remainder after dividing its first operand by its second. All numeric types have
predefined remainder operators. In this case the reminder will be nonzero 50 times (for i with values 1, 3, 5,..,99). 

 

QUESTION 2

You run the following code: 

What is the value of result when the code has completed? 

A. 0 

B. 10 

C. 20 

D. 30 

Correct Answer: B 
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QUESTION 3

You execute the following code. 

How many times will the word Hello be printed? 

A. 5 

B. 6 

C. 10 

D. 12 

Correct Answer: B 

 

QUESTION 4

A table named Student has columns named ID, Name, and Age. An index has been created on the ID column. What
advantage does this index provide? 

A. It reorders the records alphabetically. 

B. It speeds up query execution. 

C. It minimizes storage requirements. 

D. It reorders the records numerically. 

Correct Answer: B 

Faster to access an index table. 

 

QUESTION 5

This question requires that you evaluate the underlined text to determine if it is correct. 

When creating a site to utilize message queuing, the IP address must be configured to MSMQ. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed\\'\\' if
the underlined text makes the statement correct. 

A. No change is needed 

B. protocol 

Latest 98-361 Dumps | 98-361 VCE Dumps | 98-361 Exam Questions                                3 / 8

https://www.passapply.com/98-361.html
https://www.passapply.com/98-361.html
https://www.passapply.com/98-361.html


https://www.passapply.com/98-361.html
2024 Latest passapply 98-361 PDF and VCE dumps Download

C. host header 

D. port 

Correct Answer: B 

 

QUESTION 6

You open the Internet Information Services 7.5 Manager console as shown in the following exhibit: 

You need to examine the current configuration of the server W2008R2. 

Use the drop-down menus to select the answer choice that answers each question. Each correct selection is worth one
point. 

Hot Area: 
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Hot Area: 

Correct Answer: 

 

 

QUESTION 7

All objects in .NET inherit from which item? 
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A. the System.Object class 

B. a value type 

C. a reference type 

D. the System.Type class 

Correct Answer: A 

 

QUESTION 8

You are creating an application for a help desk center. Calls must be handled in the same order in which they were
received. Which data structure should you use? 

A. Queue 

B. Hashtable 

C. Stack 

D. Binary tree 

Correct Answer: A 

 

QUESTION 9

Which language was designed for the primary purpose of querying data, modifying data, and managing databases in a
Relational Database Management System? 

A. Java 

B. SQL 

C. C++ 

D. Visual Basic 

Correct Answer: B 

SQL is a special-purpose programming language designed for managing data held in a relational database
management system (RDBMS). 

 

QUESTION 10

You are developing a webpage that enables students to manage races. 

The webpage will display two lists: past races and upcoming races. The page also contains a sidebar with contact
information and a panel with social media settings that can be edited. Race results can be shared on social media. 

How many components will be on the webpage? 
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A. 2 

B. 3 

C. 4 

D. 5 

Correct Answer: C 

 

QUESTION 11

This question requires that you evaluate the underlined text to determine if it is correct. 

A piece of text that is 4096 bytes or smaller and is stored on and retrieved from the client computer to maintain state is
known as a ViewState. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed" if
the underlined text makes the statement correct. 

A. No change is needed 

B. cookie 

C. form post 

D. QueryString 

Correct Answer: B 

 

QUESTION 12

In which order do the typical phases of the Software Development Life Cycle occur? 

A. Requirements gathering, design, development, and testing 

B. Development, design, requirements gathering, and testing 

C. Design, requirements gathering, development, and testing 

D. Design, development, requirements gathering, and testing 

Correct Answer: A 

 

QUESTION 13

This question requires that you evaluate the underlined text to determine if it is correct. 

Converting a value type to a reference type in an object is called boxing. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed" if
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the underlined text makes the statement correct. 

A. No change is needed 

B. unboxing 

C. interfacing 

D. mapping 

Correct Answer: A 

 

QUESTION 14

Your database administrators will not allow you to write SQL code in your application. How should you retrieve data in
your application? 

A. Reference an index in the database. 

B. Call a stored procedure. 

C. Query a database view. 

D. Script a SELECT statement to a file. 

Correct Answer: B 

The SQL will only be inside the stored procedure. 

 

QUESTION 15

You have a SQL Server database named MyDB that uses SQL Server Authentication. Which connection string should
you use to connect to MyDB? 

A. Data Source=MyDB; Integrated Security=SSPf; Initial Catalog=Sales 

B. Data Source=MyDB; Trusted_Connection=True; MultipleActiveResultSets=True; Initial Catalog=Sales 

C. Data Source=MyDB; Integrated Security=True; Initial Catalog=Sales 

D. Data Source=MyDB; UserID=username; Password=P@sswOrd; Initial Catalog=Sales 

Correct Answer: A 
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